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@Suppose A and B are two different amino
c

ids. How many different types of
polypeptides could be made from these two
amino acids?

X2 defa

it

FHrer o5 A @em B & 3 3@t &1 I
21 afier aseet R fead e 3T
g B AETEEs I WEA B

(A} 2 (B) 4
Qe (D) 8

@Which of the following is true for the
3

0
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trumental components of U.V- spectroscopy?

(A) Monechromater, Cuvette, beam selector,”

detector

(B) / Monochromater, X-ray source, sample}

detector

(C) Monochromater,

Recorder
Monochromater, linear polarizer, sample,

Recorder

sample, photoceli,

U.V.zuz@w%tﬁa‘?am'a—cﬁma’ﬁ?rmam
TR

(A) SRR, TEIdT, e woTee, BEaee
(B) FirelRIFER, UaH-Y, A, R

(C) Fverepdes, JeTd, B, ReEy
(D) HrerHHE, freedideEer, JFd,
IECHETe

3. Gas - liquid chromatography is useful for?
) Volatile, non- polar compounds

(B) Compounds with a net charge

(C) Non-lonic water soluble compounds

(D) Water insoluble compounds ,

Series-C

¢

Sro-fefrs BAdamed Read Iuel &
(A) drdrerga, Se-dieT NS

(8) Tifdrs Rred @ =TSt @

(C) reramaifzes S Rerre [ioTws
(D)o & foeras & & arer difows

@ For TEM, the sections after mouinting onto

e EM grids are stained with?

* (A) Safranin and light green
@ (B} Calcoflour white

‘_,{»C]’ Uranyl acetate and Lead citrate

(D) Gluteraldehydﬁ,

ga—:@‘crmgﬁw-ﬁﬁ(TEM)ﬁEMﬁng
TS @ me Teud e fear oner B9

(A) Swiferer aar emgeaie

(B) ScepIBER ATge

(C) seirer uRee I &8 WIseT
(D) seredicseTss

5. Which one of the following medium cannot
be used for immersion lenses?

(A) Oil

B) Glycero!
ormaldehyde
J,D) Water

mm%ﬁaﬁa’%\ammwﬂ
Iyl AT B 7

(A) sifaet

(B) ve==IET
(C) mrsfe=aTss
(D) areft

N
“-/;‘;“-.
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6. For the production of therapeutic proteins
which choice of the host for expression system
will be the best for fast, inexpensive, safe large
scale, low cost and easy storage?

{A) Mammalian cell lines

BT Bacteria

{C) Insect cells

Plants

wfla, =sH e Wg?f}msﬁ?mim
aaa:ramraaﬁﬁmam It
ST THal 9t wée @
Brafor m@ @& B @ #F 8k
CaEuaE farpry Tdfaaar o

(A) =eTend® |3EET HaA
(B) A==

(C) B wifdrsr

(D) ureT

7. Which of the following statistical tests is
widely used to test the independence of
attributes and to test the goodness of fit in
genetics experiments.

(A) F-Test

(B) t-test
Chi-square test

(D) S.D.

S & D @ FisRE udevr age
FHT A uw=er HA ERn FEr § Sd g Sdr
@ Y F e gost den Iaa Iqsad
W = @ et B

(A) F -oSigror

(B} t- TraTor

(C) Bre-eBaT gdraror
(D) S.D.

Series-C
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Primary database
(B) Secondary data base
(C) Composite database
9) I'jl\q_t at all a database

CBI is a?

NCBl &= & ?

(A) ufReres TeEEw

(B) feeres dem=

(C) fire 2o

(D) Rt oft wesR @1 Fedw wdt

9, Phylogenetic analyses deals with the ?
(A) Environmental biology
{B) Climate change

Jef Evolutionary relatedness

(D) Genetics
wifereer faedwor e & 7 Reem wmar

(A) wafazor fasmer

(B) mivzefiferast uiRader
(C) Safreprefier wiaierar
(D) aregaiterast

Henderson - Hasselbach equation s
important in the?

@Buffer solutions preparation
(B) Selection of a buffer

WMeasurements of pH

(D) Electrochemical study of a single cell

EsTorer-edena wHlwor wal FEwgel &
(A)awe Femsr @ &

(B) Rl &R & genid el H

(C) PHwIOs & fordr

(D) Rrelt i & fagaenaes  semas
Cil
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11. Which of the following factors does not
influence the rate of enzyme reactions?

(A) Enzyme concentration

(B) Temperature
Environmental pollution

(D) Substrate concentration

fporerer e & @een
el B

(A) Reviasr ast Higar
(B) amaHTH

(C) gerferzufir wewor
(D) Fae oSt Higar

Ues  wHEdlE

12. Quaternary structure of a protein refers to
the?

Interaction between the sub-units of
oligomeric proteins

(B) The relative spatial arrangement of the
linked amino acids

{C) Three dimensional
polypeptide

(D) Super secondary structures of a polypeptide

structure of the

uider @t agefl dvger wr @ Foew R 7
(A) snfeonAfers wids o & gmedt @
g F uzeue Hde

(B) oalt apflel aewt w1 goenens
eI s

(C) aiferor=rss @t Breensify dwae
(D) MifeTderss o5t a3l fedlees dwaer

13. Agitation and aeration in the bioreactors

J ensures?

{A) Maintenance of aseptic conditions

v(‘B’)'Exchange of materials #

(C) Control of shear stress levels
(D} Avoidance of over heating’

AP/2016/0030
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o g T g T
(A) 3eidt Rafyy & genrd Tz

(B) uzrelf w1 3ETE-UeTe

(C)wmazer &Y fvar @1 fereisnr

(D) sremfies o1t B/ @ @grer

14, Microorganism used for the productrion af

citric acid and gluconic acid? w%{’é-‘
H H 'lu"c awl .
(A} Spirullina 27 A
Aspergillus niger Pttt ac 0\&\’"‘

{C) Lactobacitlus Subtilis¥
{D) Methylophitus

GE) S e aer soreers
TEATer # wor e wwar

{A) =ars=tereT

(B) ot =sore
{C) raRen wafefy
{D) ferarrsaiitee

15. Which of the following is NOT an example of
Bioreactor?

{A) Stirred Tanks
(C) Fluidised beds
JD)"Engine immodbilization devices

(B} Airlift devices

oreer & A = o7 aeiRueer o1 3eEsor
Grigh-g

(A) e T

(C) vergsTses WaE
(D} efeerer wefidraseur 3Iuaszor

(B) TeRiiTE 3umor
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2 results into?

Shoot organogenesis in tissue cultures

(A) A Bipolar structure that has no vascular
connection with the mother tissue #

\/{‘g)- A monopolar structure that has strong

.

AP/2015/0030

vascular connection with the mother tissue

(C) A monopolar structure independent of
mother tissue and capable of germination

(D) A biopolar structure attached to mother
tissue.

el forarfor ot ey wear @ A= an
? as dar dar B

(A) uss faeiwr demen Rrwer sngsws o
B Adear aAde =& dar &

(B) ot g Fwen forwwr wigsTd F
e Haewr Fad BT B

(C) ger gt H@enm St AgITE A
geres BT & el g8 9 3Eha g @t
grerar off Twiem ®

(D) s TEg Fwaenm of AgSTs A FE
et B

17. Which one of the following is a transgenic
crop with enhanced nutritional quality?

(A) Flavor savr tomato.
{B) Star link corn
{C) Round up soybean

\(})}’Eolden rice,

freer & & Dol gigvifoas wAaa R
3iftres QIO @1 JOT BT B |

(A) waz JFaR AR
(B) ez T&ies #eRBT
(C)wrsve s A==
(D) =RiH wmaw

18. Increased genetic wvariability following
extended time in plant tissue cultures is a
phenomenon called?

\)(P Isozyme pattern

Series-C

(A) Geneknoc out
{B) Gene silencing
JEfSomaclonal variations

{D) Gene activation

anfirry SRR gamar o Ry woaw #
AT WHT IS UT 3T S & I T
wEd B P

(A)Siter =ifes an3e

(B) Sher @Tgior

(C) A= garsEaT
(D) Sher wedrdeTe

@ Which of the following techniques is most
suitable for mass multiplication of a plant

species?
WAnther culture
{8) Protoplast culture
{C) Single cell culture
illary bud culture

5t ureg @ afy Rl wer e
Rt & Yoa & Jwar 27

(A) mear Hadler

(B) theremee waelsr

(C) weper DIf¥HET Ageler
(D) Betzar it Aase

,"
For correct identification of a cell line, the
allowing is a valuable tool?

(A) DNA finger printing
B) Idiogram
{D) Metabolite profiling

U BT wH @ Wél ugme @ &
He = RAfegr Iu=eh B

(A) DNA fiso=fire

(B) sfe=iran=r

(C) anzziignsar Test
(D) 3ot WikIge
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Under what circumstances a target cell can
ickly respond to an extraceltular signal?

When the cell does not require a receptor
(B) When the response does not reqwred target

[ protein to be altered.
hen the response does not require a new

a transcription

}[O) The above conditions can make no
difference,

fres uRfRafeei & us =ex =B
aEamiitr e @t wiee & uswe ®e
oA & Addr B
(A) s @ifdrer @& R REer s
amgoUEsaT @at ar

(B) oiw wigw wWiéle W uRafda & &
ITALTBAT F BT |

(C) oig oama & & et == e &
TIASITIS B 3TgegPar SEt ar |

(D) udter oRRRerfaen =w
i

AET BT Hesdt

@ What type of receptors is used by steroid
o

rmones?-» &AL "ﬁ“hﬂ}’k“‘“t
d{'ﬁ cell surface receptors

on-channel-coupled receptorslnSW

uclear receptorsy (D) All the above

=Rigs gEla & B ae P fEer &
3NTeA®AT Bt B

(A) wif3rdT Fadt R¥es

(B) 3rmrer A=er & Jdfig ¥IEww
(C)Perr RAex

{D) 3adtery wsft

23. Extracellular signal molecules act on cell -
surface rather than intracellular receptors why?

(A) They are too large

S

3 DIf¥Edt e @ geer &
aregsefiiat Wee 3, S o was
T wref wed &, o= ?

(A)T sr=ia o2 89 &

(B) A zremferes arzsiftsfers 8 B
(C)3udrerT A &B
(D)3wdaa =g =rdt

Many drugs act by binding to the?

1A) Protein kinesis#

{B)Cyclic AMP x

{C) Nuclear receptors”
Cell Surface receptors

we T el A e ol @l R
(A) Wrésr wrgeeT

(B) wrsacites AMP

(C) el Rares

(D) IferesT Tadt R¥ex

25. Ca++ is an important messenger in which
type of organisms?

“M’Animals

(B) Plants

@II eukaryotic arganisms
(D) All prokaryotes

Cat++Rper ot & Us wHs dEs &ar 2
(A) wigait =¥

(B) Gvelt

(C) el dfder &

(D) =aft Wibieaiter &

B) They are too hydrophilic
BothAandB

/U?)’ None of the above

AP/2016/0030 Series-C Page | 6



26. What is correct about T-Lymphocytes?
{A) They mature in thyroid gland f M
" {B) They secrete cytotoxic material
@ (C) They respond to proteins on thgAurface of
the host cells
(D} They secrete IgB when activated

T - [epaTse A ddita Bler AT Bae
TJE B

(A} erzerss qieflt & wRuaw &9 2
(B) widmrHIel g=r =1 Smae oI ©

(C) & hidresr Bt Fas w2 U omer aret
uidler &1 G 2 B

{D)& |gBeT TTae w2

27. What is true?

(A) The antigen receptor Vés the same
specificity as the antibody

" (B) IgM crosses the placenta and providesk
| protection to the fetus

(C) T-lymphocytes secrete IgM ¥
{D) Antibody has twa identical antigen binding
sites in the Fc region f‘

TaT TE B

(A) eliorer T off A & Rafdrear wmd
2 O @ TS

(B) IgM vemeier @ UR®wT aur @ Fam
UEE e B

(C) T- RreBrarse IgM ==mEoT @2t B
(D) vsliaist & & Uwes TATS Teole
U Or e Fc P8 O 29 B

28. Gases can cross the plasma membrane hy?
. ) Passive diffusion through the lipid bilayer

{B) Secondary active transept

(C) Specific gas transport protein *

(D} Primary active transport

AP/2016/0030 Series-C

(A) el
@C) Na*

?ﬁ)ﬁm%ﬁﬁaﬁﬁiﬂ%ﬁmmwﬁ

(A) e ot 1eHt Jas A Fred= o X
WA EIT

(B) &t bl uftassr &
C)fafdre §ra@ uflaws urdler &
(D) urerfes bt aRRae=s

4 ) . .
A substance can be accumulated against its
electro chemical gradient by?

Facilitated diffusion

\Mctive transporty’””
_K) Diffusion through a Uniport
jB) Passive transport

Pe el SHe Ryga e sgua &
?ﬂﬁﬁaﬁﬁmmﬂmﬁm

(A) FfremgRea g

(8) =fpa uRas=s

(C) Twer aleor =T usEeT
(D) ferefeper uRaEs

30. The principal intracellular cation is?

NG

(D) ca®*

HTT SiaDIE eremer g1
(A} ol (B) K"
(C) Na* (D) Ca®*

Page | 7



31. Telomeres?
w Contain repeated nucleotide sequences that
that are required for the ends of chromosomes
(B) Allow duplicated chromosomes to separate
during mitosis
{C) Caps the ends of the DNA

A andC

T ?
(A) 35 T ORIt wEeiierss sieTeT o
& our gt @& sife el T aifEd

(8) wzd¥w e & dww R g
IYOT FHT BN GAF HIer H

(C)DNA S siferwr B3 =F =g &
(D) 3aterTAdar C

32. The complex of DNA and protein in
chromosomes is called?

(A} Centromeres (B) Histone
{C) Centrosome D(J?)’Chromatin

JqurgzEt # DNA @ar Widsr @ JHgs &)
T HET e |

(A) JAegiafier (B) Frzdrar
(C) A== (D) Brafe=

33. Histones pack DNA into a repeating array of
DNA- protein particles called?

{A) Heterochromatin \,Laﬁ\lucleosomes

{C) Eachromatin (D) Nucleoli

f&¥Ser DNA®T U% ge=iga A aret DNA
WEie wor # wenfga war ¥ O wEa

-

(A) RRedmrates (B) seeriteieitr

(C) gemvanisr (D) E:@Eﬂ'ﬂ‘l?ﬁ
AP/2016/0030
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34, The core histone proteins have tails that can
be chemically modified by what types of
groups?

(A} Acetyl (8) Phosphate

(C) Methyl (BT All the above

gom REm Wd@w @ seRdenr @
IJAMEEs 9 # e gu g aRefRia
BT o Jwar &7

(A) cRTerEe (B) wiswe
(C) fHase= (D) 3wt =@wsh

35. Cell division cannot be stopped in which
phase? .
(A) G1 phase (B) G2 phase

S - Phase JB’)" Prophase

e 3z H oifdesr frsmee @ Bsan
W I FTE o TAwar

(A) G1- argzenm (B) G2- argzan
{C) S- 3m@a=ar (D) uraT

36. During prophase -l of meiosis what does not
oceurs?

AT Compaction of chromosomes

(B) Formation of synaptonemal complex v~
{C) Formation of recombinational nodules
{D) Dissolution of synaptonomal complexv~

<

st Ronmoe & vaw sm@wen # w=n

=gt BT 2

(A) guregait @1 FgEe

(B) Rramfrarel hieuciarRy T Iatall
(C) Fpr=harerer vz @1 Rrior

(D) RremSieiter Hioaciay &1 faere
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Which can prevent extinction of a rae allele
in which homozygous condition is lethal?

new mutation
48] Genetic drift_
(C) Balanced polymorphism
(D) Assortative mating

% gels? 3Ella @t JATE B 3 zﬁag
AT WHaT B 7P .
(Al ues =t Icfade

{B) Sr=ifepg=ma

{C) Hgiera mgzgar

(D) sraferer et

38. Transmisison of gens that occur outside
nucleus is called?

“{A) Extra Nuclear inheritance

@ (B) Cytoplasmic inheritance
Both Aand B

(D) Epigenetics

Pog B AEY ol olie @1 RERer ger 2
IA =T wEd £ P

(A) Berefte  amgaifdmmar
(B} Sfram=fir argaifermar
{C)Awem B &=t &

(D) e R

39. Which of the following statement is NOT
true about DNA replication?

(A) It is semi conservative
3B} BNA replication fork is asymmetrical®
TC) It requires proof reading mechanismsy””

is a semi dispersive process/

AP/2016/0030

DNA ufeegir & sty & @t A1 wHeyer
g wiE B

(A)zrE we ared Fzeyor ufear 2
(B) DNA uferegler =51 faemsn smeniRir @ret
-3

(C) = T=uer-ufteer =mf2d & 2
(D)o v atef fadges wicsar 2

40, 'Bulky iesions' created by the covalent
reaction of DNA bases with large hydrocarbons
are repaired by?

(A) Base excision repair ¥

(B) Direct chemical reversal
Nucleotide excision repair F
Homologous recombination

(

A dHwem DNA & @Rde e grr

ONA S dem @3 Ziggreraer @ affergiad &
Bl 1

(A) 3=\ =t Zemse etfagRt
(B} helt wraferss faodia e

(C) =reeiieiiergs sereme avfergfef

(D) o Reprw=iaeE=

41. Holiday junctions are often formed during?
/2 (A) Replication
KD’[‘E‘f Homologous recombination

(C) Transcription

(D) Proof reading

To—

Bl do wa @ay 7
(A) uferpfar feraior

(B) woneltr  Reprafidiersr
(C) ufereizre

(D) FA=Tusr uaer

AR
X
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colour is dominant to yellow colour. A black
male and a yellow female had offspring's in 1
yellow male: 1 yellow female. Which of the
following statements is true based on the above
cross? R S

A)'Heterogametic sex in the cat is the mal?}
eterogametic sex in the cat is the female
feterogametic sex in the cat could be both

a XWQMU&

Body colour in %ontmlled by sex
%o@a' ked gene on the x-chromosome. In cat black

.'JA‘f Trisomy

ale and femal

Parent generation was not homozygous for
body colou?‘

AT wmr Jor T Rrgfor ww@ g X-
mmw%?&aﬁfﬁamﬁaﬁm‘é‘
fafee=t & @®er o WS o=
%Eﬂimaﬂ?ﬁﬁic—cﬁatﬁﬁmﬁ!ﬁﬁ
& T 1 : 1 Fgaa (1 det @ o: oo
it #ven) 3 Uur g2 sH sngR w @re
AT Here JAET B

(A)oir & RwerEpHw Ror
(B)wmer & Rwwgowast fEor

(C)=z 7 ey Srat 3 & RuaAgeaa feor
(D) Grers it ol & o @B &R
TAYTHIGT FEr eff

j? gene is said to be epistatic when?
) Its presence suppresses the effect of a gene

t another locus
) It does not suppress the hypostatic gene
(C) It is not dominant
{D) It is not co-dominant

g ol B TRt weomar &
(A) sTs ulRafad & seers @E Gl
UHTGEST & oieaT &

(B) e TrmdrRRes ohe @ wema drer =t
m% »

(C) e wamdr =&t 2B
(D) e TE-wwmEr off ardl B

AP/2016/0030 o

(A) Deletion
(€} Change in single base pair
All the above

. recombination is ?
| Recombinase
(C) Helicase

o
Y

Series-C

44. Down's syndrome found in humans is due
to?
(B) Nullisomy

{C) Monosomy (D) Lethal gene

HAreaoia # OrRit oar arelt siga hEle
e wmRor Bt B2

(A) grdemsit
(C) Arar= Y

(B} sretaivatt
(D} ATIFHSIE

45. Point mutations involve?
(B) Duplication

Reg sadiader = 27

(A) Strefirr (B) geiisborar
(CYoss oiler & Icafads
(D) 3urery =aft

6./Enzyme that catalyzes strand transfer during

(B) Transferase
——
(D} Gyrase

Reotefistorer & Ser wes dg
gmamwﬁrmﬁsvaz%mmrﬁaaﬁm
t

(A) Rerwiiasr
(C) 2feredoy

(B) g o
(D) oI

Virus free plants can,he produced by?
PEFEmbryo culture @ eristem culture

(C) Root culture {D) Anther culture

RrompRfea owy X =9 o THEa B e

(A) aforsiaster (B) Afdzem waear
(C) o1 Tael=r (D)tmmzﬁnsr Haefer
male f

YN |
el

:\_a"»ﬁﬁm
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48 Which of the following statements is NOT
gpi—
correct?

{A} All elements are made up of Atoms s

®{B) Mass Number of an atom equals the number
of protons plus number of Neutrons plus
number of electrans+

{C) Isotopes have different mass numbers v
(D) Atoms are electrically neutral o

foreer 3 ¥ Ba AT BUASF T
(A)Taft ea uzAT] A =9 S T

(B) fpelt uwemy off sereer SwEm WiEE,
=g d@dT Soiggielesl AT & deT B

(C) ang=Ar2dt @ gerHTE S fiem R
G U

(D) uzmTY] Jeg T FH dey B B

49, Which of the following statements s
orrect? v
(A) Chemical changes are not governed by laws
of thermodynamics '

All biological processes are governedyhe
laws of thermodynamics
(C) Free energy of a chemical reaction is not
released to the environment
(D) The complete range of electromagnetic
spectrum does not include the U.V. rays

Riesr & X & =1 aa JEr B

(A) soaferes oRRades awfesafew &
Rt ¥ dofea o dft 8 B

(B) wowar ol frad aifsmafiem &
Fergat 3 dA=nferer &t &

(C) == 3=t ot I aferes R & =
'%ﬁ?ﬁ%,agmwﬁ%mﬁaaﬁa’lﬁ
(D) ordmraRes Wagw & Jgef @=@En
#F U.V. vl o aftsfea =€t fear s
&

AP/2016/0030
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50.The bond formed
monosaccharide’'s is called as?

) Glycosidic bond
Ef) Hydrogen bond
{C) Phosphate bond
{D) Phosphodiester bond

between two

E QHAADBIA B " "Ha gren @ o=y
EHEATAT & P

(A) seTeRATElEE g
(B) sgiwmer sier

(C) wrape aer

(D) Br=FisTETET Her

51.Which one of the following is NOT a ploymer

of Glucose?
(B) Cellulose
ihulin

{A) Starch
fRreer # ¥ P e woEHA @

agoes el & 7
(B) Hewgeiton

(A} werd
(C) Sarer (D) sgferer

52. By what metabolic process would water be
made available from fat?

} Oxidation
{B) Reduction
(C) Hydrolysis
{D) Phosphorylation

Blerft IurgmEs ufsey & we & el
IuSTE] B JBAT &

{A)} siTrTiesIoT
(B) Rza=
(C) ersgifrtrw e
(D) wEr=RIRTSS2T= ﬁ'
ﬂ v
V2
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53. Radioisotopes are agt required in which of
the following techniques?

(A) Southern hybridization"}/
(B) Immunoassays

‘yﬁ!f'Hydridoma technology.:
(D) DNA Probe&/

Bl TwEs  F  YWedisngwew @
IqOT el oAl & P

(A) Trest sssfiergoree
(B) go=EEREA

(C) srsshsSiaT  aeseiiast
(D) ggae- Wi=xw

Which one of the following was constructed
by combining the centromere, telomere and
autonomously replicating sequence?
- {A) PBR 322+
{B) Cosmid
(C) BACH

JPYYAC,

e, dendmeE gen w@a:  fEaite
oy arelt ®iREt @ Bretee Bea senar
oM=T 7

(A) P BR 322

(B) mr=ils

{C) BACTTsH

(D) YAC =17

Which one of the following methods is best
suited for studying protein - protein
interaction? .
(A} DNA Foot Printing = DNA profern

Yeast two hybrid system

Int

(C) Primer extension
(D) PCR ¥ R

0

AP/2016/0030
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 WraE-wdE ® uaids Far & sremRe

#F Sreht ufem waifa B 7
(A) grmew  wehitear

(B) 2fize-2 EhE s
(C) utzer fawaiiReseor

(D) dizfranz

56. Collection of clones containing every single
gene present in an organism is called?

enomic Library

B} c- DNA Library - 'W @b}wzoor:ol

{C) DNA-microarrays
{D) Genomics

fop2t o & U e AT JASA oie B
TEl @ USH wId U T dedl & ?

(A) Stiefrer ergard
{B) C-DNA atzerst
(C) DNA- ATSHITE
(D) freitfarert

57. When the individuals of a population have
different sequences in the DNA at a particular
chromosome region such that the scientists can
distinguish the individuals, Such DNA markers
are said to be?

(A} Monomorphic
JBTPonmorphic

{C) 1somorphic

(D) Isoschizomeric

freft oporgy we Reefl SeweE @ sivee
T a9 el fAdw wemsr uzr ufRaftia
wmEgl A B, 3w aw ¥ & Ssntee
T =iaa @ UgTe Wd | §H a8 B
HoeTo-ateTor WY =T FEd & ?

(A) A=A S

(B) ufcitenihs

(C) arsATATTGS

(D) asHITHTIS ARS

Page | 12




58. Following is not the function of lipids in
{A) Signal transduction
(B) Membrane stabilityv’

MerEnergy storage

smoregulation

greai # Re=teRaa o=f aur & a7dt B
(A) JABT gIr=oT

(B) Breeht o5t zenfrrew
(C)3oif & Fepoter &

(D) srr==RgISreer H

, What positions of nitrogen in a purine ring
dre not involved in hydrogen bon&’s_r of base

airs in 2 DNA molecule?
@l -3, N-7, N-&
J’B) N -3, N-7, N-8

(C) N -3, N-8, N-9-
(D) N -7, N-8, N-9,/

Bt DNA = 3] &, w@s & aggoe
T grsgier du fS5w Base yow H wem
AT E grar B

(A) N -3, N-7, N-9
(B) N -3, N-7, N-8
(C) N -3, N-8, N-9
(D} N -7, N-8, N-9

60. Which of the following statements is NOT
correct about Bioenergetics?

{A} Cells require sources of free energy ~
{8) Living cells constantly perform work -
) ATP is the chemical link between catabolism
and anabolism?* :
Biological reactions are not influenced by
entropy

AP/2016/0030
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o 3ot & Hada F Prewn saa To=r
adt B

(A) fSresTall @oF Taew Ioif @1 sTTeTwar
e B

(B) Trferpret RrRaar & duiea wwdt B
(C) Pemferon a vamitew @ &Hag @t
TITaferss Bies ATP &rar 2

(D) ot fFord w2t & v =
Brelt ) .
o2

61. The Following statement is _I’\I_O_T correct
about Glycolysis?
(A) Glycolysis is universal
LB} Glycolysis results into formation of PyruviE/-
cid

Cytosolic enzvmes?hare not involved in
glycolysis
(D) ATP is invested during glycolysis

TEEHIAHA & T FH Bler AT e
T wEAT B

(A) verzmfaria ot ofiat 3 e &

(B) senzBiteiT I UTaSiass 39 @1
Frator &ar 21

{C) Shrawefiw feurasr w1 sosoififas &
TR WA BT &

%D)mﬁ%ﬁqa & S ATP o oft drar
|

62. TCA cycle was discovered by?

W/Krebs

(B) Krebs and walker
C) Wilson
(D) Wilson and walker

R
‘U‘!\

TCATes &1 3fassre fsma fear ?

(A) == (B) B dam arpT
(C) Rewaw (D) Frewer @enm aTmw
1 {
L™
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63. Vaccines that use components of a
pathogenic organism rather than the whole
organism are called?

{A) Peptide vaccines

ub-unit vaccines
C) Partial-vaccines
J}Eﬂ Conjugate-vaccines, »

a1 e ot S\ Goe e oie @
(g T IUTGT WAt &, gereafy B gy
Sita @y

(A) t=reE Jufie
(B) Sub-Unit J=rfi=r
(C) 3reit — A=Rfiw
(D) Fr=upe-dudter

64. Which of the following techniques is not
used for producing transgenic animals?

A) RNA interference V'
) DNA microinjection
[f€) Embryonic stem cell

% bacterium cell)
giaeiferers ofeg @wmey H @Rt Ry @
# =ift oft omet By

(A) RNA- gezB3s

(B) DNA- ATSBIEoar T

(C) 2ol =waer wifsrem

(D) vata”iRI=\ st

65. Which one of the following techniques is
used for producing marker free transgenic
nerfer Tree fransgenic

plants?

) Barnase bar star technigue
&re -lox recombination system¥
(C) Marker assisted selection method ¢ .
(D) Gene Silencing techniques f‘

»

0

0

Series-C

ArEREa giooless oy e & e
H I Preh Yy oo & o ondr T

(Ayads ar =i R

(B) shi—cliar Rpre=aiers wonsh
(C)wmeT aft wear aveh awe fafdr
(D) siter TATscifdor frferad

66. Bioremediation by the microorganisms is
facilitated by?

(A) Cell Membranes

-L(}Yf"lasmids

{C) Mesosomes
(D) Incipient nucleus

?ﬂgmﬂiﬁ%ﬁmﬁma‘\m
4

(A) Brisresr Rreeht
(B) ustToHIS

(C) Fr=grH
(D)=t Pemad

67. G F P used as a biological reporter gene was
isolated from?

(A) Bacteria
{C) Algae

{B) Vin;ls

vw) Jelly Fish

GFP R Oftes Rdfer sfer & =g &
IgeT e wmEr B, IR OBaEr WX
ferepraT ot

(A) A== (B) @rere
(C) &amer (D) Srefitfiser
A

Page | 14



68. Plants
tumefaciens
production of?

Opines *
(B) Acetosyringones
{C) Flavonoids

‘(pf Alkaloids

Py T B B @ GﬂiT 21 e
(A) 3tTaTgsy

(B) uf¥erfufie=

(C) woraieiTss=

(D) vepReEg

infected with Agrobacterium
becomes a factory for the

69. On a laboratory scale, plants have been
genetically modified to produce?

Edible vaccines
@ (B) Energy drinks

(C) Pharmaceuticals
(D} Soft Drinks

WS @ 9T uT Waf mr SEifes wa
A ulRafdfa Rear orem B frew & X ==

ey @B o

(A) e =N AeRfler
(B) It Ty

(C) mRARRYEHT
(D) T=r uayef

0

70. Information is converted from one form to
another during which process?

‘JA’T Signal transduction
{B) Signal transformation
(C) Signal interference
(D) Signal duplication

AP/2016/0030

Series-C

UF A gAY H wuiawer & onar & Rew
fear & Sraer

(A) Rroae giosae
(B) RBroerer grardSizsierer
(C) Rioaiet Sexdiw
{D) Froerer geftedere

@4 When the hormone insulin is released into
: he bloodstream, what form of signaling is

being used?

\MParacrine

QB( Endocrine
€y Neuronal

(D) Metabolomic

S e A geiler  Emwars @
fHear 8 &Y e uasiz =1 Rwoas i
w1 Iuiar BT & 7

(A) Ueredts

(B) v=Erhiw

(C) =gRrerer

(D) FAeraraiiaes

72. What does a target cell require to respond
to an extracellular signal molecule?

(A) Access to the signal molecule

(B) Receptor for the signal molecule

{C) Intracellular signaling pathways
All the above

Us BiYe H agw Rewa 3] @
IuRRafy @1 SeE Tew HIvEET ¢ we
TP D 3¥ Tem angsmswar 28T B

(A) Ryoser 3 & ugw
(B) Rimerer arp & ford Rdex
(C)miformr & 3iey Rwoas Awar @7 dw
(D) 3uderm Haft |

N
<

o

e
Vpl;;#« -
o
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73. Which of the following signal molecule is /@/Which one of the following statement is
orre

not used by the plants? ____F__;Labout inflammatory response of the
PCR ‘Cychc AMP immune system?
Ca++ * (A} Tissue swelling is the first stags}
(D) Enzyme - coupled receptors @ ast cells secrete chemotactic agents that
attract lymphocytes ;|
Rreer & & @19 o1 Rweer 3 ueg & \MMacrophagessecrete vasoactive materials
uior & BT @ (D) Antibodies bind to the surface of the
{A) GPCR (B) Cyclic AMP- Tei=r  wuHUY microorganism - : ;
(C) Ca++
(D) Rsvas-mucs Yovex ufeRen &5 # gawHAG uiaiear @ anr

F BT JT HAA [ B
(A) 3o Jotel UAH 3@z Bl B

74, The key cause of immortalization of cancer )
(8) 7= =IWormIE e a@ ==

cells is?

wEAr &, o fewraee o anwifa wwar
A) Complete loss of telomeres 3
B})Reactivation of telomerase enzyme (C) Frprdor Asofres ware wfT @ar
(C)Both Aand B MOne of the above -4

(D) Rrary =it Tas uzr wiafos @i &
HFAT FVET B AL B BT UHIT DR A R

FaT T ?
(A) 2ol =1 o a2 & den 77. Which of the following statements is correct
(B) Zeoyer fesua w1 geehfEa e about Lymphocytes?
(C)zudrerr A& B (D) 3udae IS «&H (A) They are most abundant white cells of the
blood ’
~= 75. In the natural immune system? (BL:I'hey leave the blood at the site of infection
{A) neutrophils destroy bacteria _(C)}hey respond to the antigen in the\kextra
(B) Macrophages use nitrous oxide to Kkill cellular fluid
bacteria U(P-YT he B-lymphocytes become plasma cells
Complement kills bacteria
%’he monocytes are the precursors of tissue Rewpaee #d Adfta B & & Srear
“macrophages o e R

(A)A = a9 ofq HBrEU B w1 agaa
# Bl B

Ugla wea wiazenm d@w #
e (B} & Fewfora zemer W o W gAS B

(A) =Igfteer FadifRen @1 AFTE HAT © ST B
(B) Apror AT W TATE HIE B
R =ieew aifvarss @@= # 9d B %ﬂ;ﬁﬁﬁmﬁﬁ%mwm
(C)aﬂmaﬁﬁzﬁﬁﬁﬁmm!ﬁfé D) - Y R
(%D)m FPBG B TiEs AETAEE B :ih) SAFHATES e TET S

I
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78. The Sodium pump is?

{A)Exchange extracelular Na® for intraceliular
k' ’

(B} important ion channel «

(C) inhibited by metabolic poison P

mportant to maintain the cell volume}n

Hifzes gea o= B

(A) armer Na' &1 s @Y K sre=
eTe

(B) v 3murar anfdmsr

(C) Iug=e oieT @ Rifldsw

(D) BBrET WA B TATT THA H WHH
agfoTenT

@

determined by?

he resting membrane potential

A lipid cell membrane
(B) A nuclear membrane *
(C) Intracellular organelles’
(D) Presence of mitochondria

Jaft HPeE3t H = FAATEAT B

(A) T @ wiferesr feetY

(B)Bew =t fareslt  {C) st Bfdmmion
(D) FTsSrenifgar @1 IufRardt

82. Pluripotent cells?

Can differentiate into different cell types
{B) Are terminally differentiated
(C) Can differentiate into whole organism %
(D) Can differentiate into any organ '

aggeRityge Hidrmg

*gradient (B) Ca** gradient o X (A) Tgus @ Hfdem vew F aAfta @R
. r \ @t gTHAT TG

+ . . T\"" k\

{C) Na* gradient \(}))'CI gradient ~ J % (B) 3R ww X ARa &
C)wiqul Sfim & uRRaifa & wmen
guanazen #A fYecit ot HA S P (
e 2 v (D) Rezht 3for F wafeda & orer
A) K* 3o B) Ca’* argqurer
(A ) e . 83. What types of bonds connect the DNA base
(C} Na” argara (D} Cl argaTa pairs?
_ - @v[ﬁr)'Hydrogen bonds (B} Covalent bonds

80. Function of rough ER is? pe {C) lonic bonds (D} All the above three

Synthesis of proteins
{B) Synthesis of ribosome
{C) Synthesis of membrane lipids
(D) Fat delivery to the Golgi bodies

weT EReBT o= et B
(A) Tréer w1 o

(B) Trs=itaer w1 fersfor
(C) ety g=r =1 ferator

H

(D) ool &t =T wewr w@2e

81. What is common to all cells?

AP/2016/0030

DNA® d\-zos & @er & o &a 2

(A) ersmwier 9y (B) Bt er

(C) ar=iferes @er (D) sudtery Haft

84. Human genome contains how many genes?
(A) 46 vr{)“;oooo-aoooo

(C) >100000 (D) >3 Lakh

HTeaoheta # feasr ofter 818 &
{A) a6 (B 20000~-30000
{C)>100000 (D) >3 @
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85. Arrange the following events of meiosis in
the correct sequence?

f- Terminalization
- Crossing Over

- Synapsis
V- Disjunction of genomes @
N
i W, i [
i, v
}:(C) v il I I
(D)1 v n I

st amerer & Rrewr  am=enait =t
TE HmH A GTHT

I- hfearsse=

- wif¥oer smaz @
1l- Rrenftas

V- et o Bacewe

Aayn | v I

(B)I i [ IV

(C)IV Il it |

(D)1 IV (TR

——) 86. Which is not the characteristic of a growth

curye?
b[A))(‘:an be plotted with logarithmic numbers
{B) Can be plotted with number of microbe;
versus time
rowth curve has 4 phases
(D) Growth curve shows development of
microbial population over time.

gig aft @wmvan & Hw AT goT e FE
Bar & ;
(A) 3 R dwer @ off e o
TAHaT & *

(B) FTzhIwr @ T AT AT W AT D
Tam & off Ifiar o weRar &

AP/2016/0030 Series-C

\_M Chemostat

{(C)zaadt 4 am@zenu A&t |

(D) ZE Wramgai & wwagar gfg == =
oft Torfar &1

87. Bacterial cultures can be grown
continuously in a?

{B) Hemostat

{C) Coulter counter {D) Hausser chamber

Brary dadsr ®r Prowar & s e
frar =1 wewar B

(A) StHTeE
{C) ®micer =F1deY

(B} iZat=ee
(D) sTmw1T wmar

B8. Starvation proteins are produced by a
bacterial culture during?

(A) Lag phase (B} Log phase
‘(9’Stationary phase (D) At all times

oy dads F spmed @@ Wwidar Rew
aETel H F@erd B

{A) o1 3razem
(€ fa?a'f arezen

(B) o1 3ra==m
(D) 3w =aft

@alanced polymorphism occurs when?
There is selection against homozygous

recessive individuals
(B) There is selection against homozygous

dominant individuals
@ here is selection against all homozygotes

M here is selection against heterozygotas

Tgfera drAITYSA Ha Bar & 7

(A) o Eetonzeorm R we & Raems
a=e #ar B

(B) orar ErIGgoTH Sfteiese & Raons
gge BT B

(C) ot Jaft SNonwoie @ Raens T
g &

(D} ora waft fRedomaeie & Rueres Toe
Brar &
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90. Different proteins can rise from the same
gene due to?

JﬁAlternate splicing

(B) Pseudo genes
{C) Multiple alleles
{D) Frame shift mutations

vhE & Sl A 3E9r 3| W a6
THa & oG OAT & T B

(A) 3reT0T A8 & oiE H
(B) eemett St &

(C) sgarehisht

(D) sH¥IwE 3cuRad=

91. Which of the following is NOT an advantage
in using Pea for mendel's experiments?

(A) Bisexual Flowers -+
(B) Self fertilization -
(C) Contrasting characters -

JD‘)‘Dicotyledonous Plant

AUSH B AT & DISAT BRE ST &
grer 3umel = Et B

(A) fafef gur
(BY = ferd=sr

(C) Rrdier gpor
(D) Ero=fi Ty

ow many different types of gupes will
pe’obtained in a Trihydrid cross?

1
'L&

A

r

_@Inheritance of blood group in humans is
overned by?

\y(}' 27, e 8 Gomsles
(€9 (D) 12
TP SAEwmeor & Reaar 3teor weerT @t
Sefey a1 Jwy F
(A) 27 (B} 8
()9 (D) 12 '
. L
Wblz' . T .;"
U b o L
M,@, M‘w P\U& O\
\
EﬂP/mlG/OOBO Series-C

N Polygenes

b(B}'MuItipIe alleles

{C) Duplicate genes
(D) Incomplete dominance

Arerg oiifr & o wHs BP9 @ A

Fergere Bl ¥
(B) argsciieh

(A) mgohi=l
(C) F&sh=h (D) arqef wegem

94, A ratio of 1: 1: 1: 1 is a dihybrid test cross

ests that?
( {A) iour alleles are situated on different pairs of

chromosomes

Four alleles are not situated on different
pairs of chromosomes

{C) The two characters are linked

{D) Law of independent assortment is not
working X

TFHE 1 1 i1

(A) e arefler arEm@r 3w goRg wish &
8 &

(B) e arefler areior ST IORF PGSt
H @ B B

(C)Er por amuw # oR Y B

(D) waeist gerker @1 foeia wRrmfa =dt
B @ B

2 G

24

C

»33""

a ) “ %

gJ’bb

s
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95. Lhargaff's rule states that in DNA
Amount of G equal to amount of C
+ (B} Amount of T equal to amount of C )

(C) All DNA contains equal amount of A,T,C,G A
(D) BRNA has equal amount of A&U

o @1 e ufauiRa o B O
DNA &

(A} G 3z CTt AT & T JAHATST BT
(B) T3r Caft AN @1 UH dAHTS e

{C) wsft DNAF A T, C, G &I AT TH
AT

(D) RNAFH A3z Uast &AM I#ATer Bem

96. How bacterium does protect its DNA from
cleavage by its own restriction nucleases?

{A) DNA ligase re-seals the target DNA
(B) Proteins attach to the target DNAV

@hemical modification of the target
equence

JE)/;\I[ the above

AT 3as DNA & 3ma & Rdem=
Uorgd A fgea & ganm HF Har 2|

(A) DNA =irgdtst g1 ofer DNA a1 e
CiE )

(B)=rer DNA uT wiéler &1 3T=migel

(C) slexr ==t &1 swmfes oRRadar ww
Ci

(D) 3udems At

When population is small, some alleles may
come fixed in that population due to?

Inbreeding (B) Heterosis

T Jic) Genetic Drift

{D)Genetic recombination

14

< y 'l,mf"r‘obacco

Series-C

S SERiRn A s a9 s e
e # Rerar ura &R &d & A
(A) ate: worE= (B) gedfarw

(C)=afes Fhae
(D) Seifes Rarwdae=

98. During electrophoresis DNA molecules
move from?

V(I-(T Negative to positive

(B) Basic to acidic
(C) Long to short
(D) Positive to negative

THIRHIRAA H DNA a3 Rewr sfiz ged
k-1

(A) Rorenes I ereteAs
(B) emrdrar & sreeiim
(Clorear & Bre

(D) eremremes & RomeAs

\@ ransgenic animals are those which have?

Foreign DNA in all its cells

(B} Foreign DNA in some of its cells
O{C) Foreign nucleus

(D} All the above

giToifers oigsil & gen @
(A) st DNAsTd @t Sfdrmrsit
(B) =it DNA | ®ifSmsrail &

(C) mzsr Pz
(D) 3udrae Hait

A . The first transgenic plant was? 5

(B) Cotton At cet
{C) Maize (D) Rice C o™
el -

vgHA giweifers ueq & 31 B P
(A} aeaTe, (B) mur
(C) st1ar=mr (D) =rrerer
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Note with reference to the instructions No. 9 at first page of Question Booklet.

In view of orders dated 04.09.2012 passed by the Hon'ble Punjab and Haryana High Court in LPA
No. 1338 of 2012, the Commission has decided to display the Answer Keys of the subject within
three days after the Recruitment Test on the Commission's website http://hpsc.gov.in. The
candidates who appeared in the test are adviscd to submit to submit their representation regarding
incorrect questions/answers, if any, within next three days from the date of display of Answer Key
(upto 05:00 P.M.} personally or through email at apexam2016.hpsc@gmail.com (not by
post/courier). Candidates must write their Name, Roll No. and Name of the subject on their
representations. Representations received after the stipulated period will not be entertained by the
Commission. Representations received within stipulated period will be placed before the
Committee of Subject Experts and the report submitted by the Commiitee of Subject Experts will
be final. The result will be prepared proportionately afier giving the benefit of incorrect
questions/answers on the basis of the report of the members of Subject Expert Committce
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